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1. This Question-booklel is printed in English and Hindi languages. Candidates should select any
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sumber of questions are printed in the question paper, otherwisc he should ask for ancther
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Directions (Question Nos. 1 to 5) @ For each
of the following words below, a context is
provided. From the given alternatives, pick
the word or phrase that is closest in meaning
in the given context.

1. Consighment Courler companies
guspect someone 18 leaking details of
their consignments leading to thefts.

(&) Goods sent for delivery
B} Documents

(C} Petrol

(O] Dehvery boy

2. Hoarded : The government has scized
5000 tonnes of hoarded pulses.

{A) Hidden or stored away
(B} Purchased
[C) O poor quality

(D Imported

3. Marginal : There is a marginal drop in
the growth of companics this gquarter.
1)
B

Large change
Increase

(C] Small change
{1

[lecrease

4, Exhilarated The monkeys were
exhilaraied al the sight of bananas,

[#]
(8]
(Cl
[

Unhappy
Sad

Very happy
Apgressive

§. Dismantle : The shaps an roadside were
dismantied during widening of the road.

(A} Relocated
(B} Destroved
{C) Vacated
D0} Decorated
PAAS2016/2-A
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Directions {Question Nos, 6 1o 10) : Read the
following excerpt and answer the guesiions
asked at the end. The answers o the
questions should be based on the excerpt.

In various parts of India, the common pecple
diaplayed a heroism which was of an
unprecedented character, Thus, while long
processions of unarmed men and women
proceeded in file to take possession of police
stations, thev were fired wupon by Indian
constabulary. Scores were shot dead, many
wounded; vet the processions proceeded after
brief interruption. In one case, an old womean
was shot dead after three rounds of fire; and
vet as she died, she held aloft the National
Flag with which she had veluntarily marched
at the head of the file. She had done so
because she did not want young men fo lay
down their lives while there were people like
her with all their age.

6, Laong processions of unarmed men and
women proceeded in file

[A) to take possession of the National
Flag

{B) to shoot the Indimn constabulary

(@) to take possession of police
stations

(D) to briefly interrupl the processions

7. The unarmed men and women were
fired upon by

(&) those who were Tholding the
Nalional Flag aloft
[B) the military
[C] the British
(M the Indian constabulary
[B.T. D
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8. The word ‘scores’ in the excerpt means Directions (Question MNos. 11 o 15) : Read
the following excerpt and answer the
guestions asked at the end. The answera to

(A) music the questions should be based on the excerpt.

Even today, people in the countryside are alive

to the necm's versatile virtues. [t is scldom cut

down and is stll planted in and around

(C) many human seftlements. Tradition decrees thait,

when the Indian new yvear comes round about

midsummer |in April) and the neem bursts

(D} procession into prodigal, ragrant white blossom, its tiny

Mlowers mixed with jaggery should be cooked

into a special side dish, both as a tonic rclish

to mark the commencement of fresh year, and

9, The old woman laid down her life to remind people that life is an admixture of

because sweel and  bitter experiences. The latter

sentiment scems largely imaginative, for neem

flowers arc not bitter, though the leaves and

fruits are. They have a characteristic resinous
aroma and are mildly astringent.

(B} drumbeal

{A) she did not realize that the Indian
constabulary will shoat her

: ~hil \ "
(B} she wagicrd - S 11. Which of the following statements is

true?
[C) she did not want the young to die _
while older people of her age were () Theneem fruits, llowers and leaves
alive are hitter.

(B} The neem leaves are bitter; the
[} the procession was intermupted fruits and flowers are not

(C} The ncem fruits are bitter; the
leaves and flowers are not,

10. After many were shot dead and

. i) The neem fruits and leaves arc
wounded, the processions

bitter; the flowers are not.

A I e i diatel
) Woppeq tmomkciciy 12. The neem flowers are

(B} consisted only of older people (A} fragrant and are yellow in colour

[B] white in colour and are bitter
{C) consisted only of leaders and no )
common people [C] wery big and have a charactenstic
resinous Aroma

[} were resumed after briefl [ white and are [agranlt with a
mterruption resinolls aroma
P/ASI/2016/2-A ] [T
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15.
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13.

14,

15.

16.

Indian new yYcar comes

(%) during the middle of the summer
(3] al the beginning of the summer
(C} at the end of the summer

(D] any time during the summer

Neem trees
M)

are often cul down

(B} are usually cut down

(C} are necessarily cut down during
midsummer
() are rarely cut down

Even todav, people in the countryside

(A] are aware of the many good

properties and uses of neem

(B

are not aware of the many good
properlies and uses of neem

(<)
()

often cut down neem trecs

avoid planting neem trees close to
where they hive

Your subordinate has submitted a
repert to vou, and you find out that
parts of the report are plagiarized. What
will yvou do?

{A] Accept the report as it is

paris
the

(B) Change the plagiarized
voursell  without telling
subordinaie

(C] Tell your subordinate to make only
cosmetic changes to the plagarized

parts

[0} Ask your subordinate to completely
rewrite the plagiarized parts in his

own words

P 2016/ 2-A
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17.

18.

You arc a shopkeeper. One of your
regular cusiomers asks vou to give a bill
for & higher amount than what he paid.
What will you do?

{A] Tell him that you can only give a
bill for the correct amount

Agree to give the bill if he pays you
a fraction of the excess amount
Tell him vou do not have a receipt
ook

Agree 1o give the bill for higher
amaount

(3]
()

i)

¥You are working in a car company and
you found that one of the parts in the
engine is nol up to the specifications,
which can lead to more toxic emissions.
Despite  informing  vour immediate
superior no action is taken. What will
vou do?

(Al Transfer to a different division

(B) Leak this news to a newspaper
[C) Report to the head of your division
[0 Take po action

¥You are in a car with your colleague and

yvou are late for an important meeting-

Your colleaguc wants to jump the next

red light. What will you do?

[&] Offer to check whether a traffic
policeman is present or not

[B) Tell your friend to abey traffic rules

(C} Tell vour friend to speed up so that
you do not get caught

{D] Tell your friend that it is OK to
jump the signal if there is no traffic
on the road

Your neighbours have cut a lot of trees
in their compotund because they say
that the house is very dark due to the
thick foliage, How will vou handle this?

iA] Ignore it

(B] Fight with the neighbours

(C] Report to the appropriate authonties
(D) Plant trees in your compound to

compensate

[P T. 0.
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21. You are a police officer. You hear about

22,

23.

a trouble brewing in veur jurisdiction,
which can become a full-blown rot if
immediate action is not taken. What
will you da?

(A  Inform your superiors and wait

[B] Take immediate action and inform
_"(-l'_rLJr SUpCnars
(C} Decide on the course of aclion

purely based on who will be
affecied by the nol

[} Wait for the ool Lo start
taking achon

beflore

You are the warden of a hostel. The
students wanl 1o have a 'rain dance’,
which will invalve wastage of a lot of
water al a time when there is drought
everywhere, How will you deal with this
situation?

{A) Talk to the students and convince
them Lo celebrate withowt wasting
waler

[B] Allow the party because otheraise
the students will be unhappy

{C} Deny permission without
explaining  the reason to  the
students

() Give permission if the siudents
agree 1o pay for a tanker of water

A lady working in yvour office is being
harassed by her ex-boyfriend, who is
your colleague. She asks you for advice
oan how to deal with this p‘mhlcm What
will vou tell her?

{A] Tell her that you will talk fo vour
colleagise about this

(B8] Talk ta his friends and family and
ask them to advise the boy

(C} Tell her that she brought it upon
herself

[0} Tell her to report the harassment @
Women's Cell of the organization

24,

25.

26.

You and twe of your f[riends arc
travelling by train. Your ticket status
is RAC, ie., reservation agninst
cancellation. When the ticket checker
comes, he agrees to give you three
berths If you give him a bribe, What will
you do?

A} Agrce to give the bribe since it is a
long journey

(B) Refuse to give the bribe and travel
sitting in your allotted seats

[C] Forcibly eccupy the berths by
threatening the cccupants

{D] Call your fricnd who is an officer in
the railways to ask the tcket
checker to give wou a berth
anyway, without paying the bribe

Find the number when added to itsell
13 times vields 112,

A} 8

B} @

<y 10

o 11

How many squarcs are present in the
following figure?

-
|

(A} 13
(B 14
[C) 15

o) 16
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27.

28.

Mr., Kumar's paternal grandfather has
one son and no daughter. Mr. Kumar's
daughter has two paternal aunts and
three paternal  uncles, Therefore,
Mr. Kumar's paternal grandfather has
what numbers of granddaughters amd
grandsons respectively?

" 2 3

(B 2, 4

(c 3, 3

D 4,2

K, I, Mand N are four persons. K is the
oldest but not the poorest, M is the
richest but not the oldest, L is older
than N but not than K or M. K is richer
than L but not than N. The four persons
can be ordercd [ascending), in respect
of age and richness, respectively as
(A) NMLK, LNKM

(B) NLMK, LENM

[C) NLME, KLNM

(D) LNMK, LKNM

A gardener has made changes 1o
his existing rectangular garden by
decreasing its length by 40% and
increasing its width by 20%, The arca
of the new garden

{A] has decreased by 12%

(B8] has decreased by 20%

(C) has decreased by 28%

(D] im exactly same as the old area

PlATL2016/2-A
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Directions (Question Nos. 30 to 33) : Smdy
the information given below carefully and
answer the questions.

A B C D E F, G, Hand [ are nine houses.
Cis 2 km east of B Ais 1 km north of Sand
is 2 km sputh of A. Gis 1 km west of i while
Dis 3 km cast of G and F is 2 km north of G.
| iz mituated just in the middle of 8 and C
while £ is just in the middle of ff and I

30. The distance between E and G is

A} 2 lem
(B 1 km
(€} 15 km
D} 5 km

31. The distance between E and [ is
(A) 1 km
(B} 2 km
C) 3 km
(D) 4 km

32. The distance between A and F ia
(A] 141 km
B 1 km
[T} 2 km

0] 3 km

33. The distance between E and C is
(A 141 km
B}y 1 km
C) 2 km

(D) 145 km

[P.T.O.
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T ; 5 3 4 WA 58432 §, 78 ALERT %1 550 8
(A) B4543

[a = | = o (B] 86743
‘ D_| { 'Jﬁ | & & = (C) BES43
T () D) (D) BB453

PyAS 2016/2-A 12
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34. Choose the correct mirror image of the aT.

following image. i ;

s}

e

ol al [o O
i iy iy o R L
(A IBIIH (<) ] Which is the missing square?
|
358, Find the odd one out, ‘ d} ‘
(Al D22R — .
(Al (B 1< 18}
e 38. How many sguares are there in the
fallowing figure?
(C] T3P I i
D) V2aB

; . A 10
36. There is a specific relation between
figures 1 and 2, For establishing B 11
the similar relationship betwesn (B)
figures 3 and 4, identily the right one
for figure 4, (€} 13
\ D) 15
‘ o ' [o
—meen O L= ?
| i ‘ A 39, 1 PALE is coded as 7865 and EARTH as
. 58432, then ALERT is coded as
1 2 3 4
(A) B4543
K S
A |[_, ‘:, = [B) B6743
= L |:|£-. |_ Ao ! IC} BGS543
A) 1] 1€ () (D) 86453
PUASIL2016/2-A 13 [B.T. O

Downloaded from: http://studymarathon.com/


www.studymarathon.com
www.studymarathon.com

a0, il Sifen we § GODREJ #1 KFSEPH 43, Tl T AmE @ S e T wd = e

o WM ¥ 9@ W #) TR § RED W fir e uw W A A wiEw @
fegmn =mom P e § s aw R
(A} EPH (A) e
(@) FEEE R
(B ESF Y
(C) wEEE T
(] SFE
|D) T EH
) EFS
44, s oTEY ®9OR % HEW W oA
e =t

41, Wi A &A@ 9W F - 7 B
7wk Faff e B g R S ST, () s
il s T A R A E A =i

[B) HiEw
682 20 P

(C) wAuEn i
i 99 (D) g v A 4
i
B 54 i
45, a7 F WA EN 1 TEETAT 1

Cy 36

(i) o e e e

() I A @ A (i %ﬁia]ﬂn e F) AT |

i) w0 Ae w3 s e
a2, T2t wed A wEREpEE T w1 w

#mi iv) 3R e e ) feen she -
g AT SRR S ) T A FF51 # FE|

i S ) W A B o) e o s i S
¥ e faerEn
(A i = o i
(A) i), G, (), (), (V)
(B] s P Al o EE :
(B {0), @), @), v, 65

() Fram = wg=s () (iv), (), ) (), (v
(D) =fE = A R v A (D) (i), tivh, o), (i, Gl
PIASI2016/2-A e
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40. In a coding system, GODREJ is written 43,
as KFSEPH. In such a coding sysiem,
RED will be written as
(Ay EPH
[B] ESKF
() SFE
[y EFS
44,
41. Carcfully observe the pair of numbers
o’ the left part of i1, which has certain
relationship. Using the same relation-
ship, what should be the missing
pumber of the pair on the might side?
642 9P
(A} 99
B} 54 45.
[T} 36
([} Hane of the above
42. In the given context, identify the
meaning of the word ‘constitution’.
"His delicate constitution could not
withstand the high heat and humidity
in Mumbai.”
{A) Physical character of the body
[B] A hook or A document
(C) Set of rules
[} Mental makeup of a person
PAAJIL2016/2-A 7]

In the following senlence, identify the
meaning of the word ‘sharpens’,

“Learning Mathematics sharpens one's
lngical and analytical skilis.”

(A) Makes pointed
(B) Causes fo improve
(C) Makes dull

(] Makes dangerous

Mewspaper should ideally be a medium

of communication of
[} rumour
(B} paranoia
[C) propaganda

D] information and facts

Choose the option indicating the correct
sequence of the following sentenccs.

(i} Add salt to taste.

fii] ol ; kg of potatoes.

(i} Fry onions and add the potatoes.

Peel the boiled potatoes end chop
them into small pieces.

fiv)

{vj Heat the oil and add the spices and

onions 1o it
(A} g, (), (i), (v, )
(B) (), f) fiv), b, ()
[C) vl did)e G (1), (%)

(D) (i), (ivh, (), (i), ()

[ BT
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a6, wTER W F am o o et S

47.

48.

mm-wﬁﬂmmhaﬁhmﬁaﬂ
an gl 21

&y 20
@) 45
C} 35

(D) S0

o AETE T e Eie B U S
# S € 70 B oa we e H FE
P 50 31 @f mW A € 380 W TN B, A
Fa T s Rt

LY
(B} 3
(C) &
D) wEE ATEE R

it A, e o @ e el s
ﬁg‘aﬁwﬁmﬂﬁmﬂmmiﬂm
1 @ 3 4 S e T 9 A} U
agd wf wawe & wfn w3 e W
& wof) Aferdt B wefee W mE arel S A
ffirs o 1 R A, AR G
%ﬁﬂq.mmmmﬁﬁﬁnﬁﬁr@ﬂ
A & = e R

0 e W g i AW
A

iy FHoEE wEEm, Ee-ofEE &
fom wiu® EEEE 2

] AT § e =gA ST 2
ad] W UTEF FEA T

(D) 3 e T ) o T

49,

50.

51.

ﬁWWﬁ%lzﬂﬂﬁﬁlﬁﬁtl
T e ae BT

(A) e AT W sf =A@ T
(B) Femd s st =md) 7 #

ic wft ferdt W PR R SR ¥ uEEE
syt iR 7

(D) 3o e v #R § S

i A ogeEs dwe Teeen A e
s & P R w4 fR o, w3
T A wam A, s A
=0 & T uw SwER 5 3@ R g e E
e ok 1 snuw 7w e R P w3 A
3 o # weR wam s fEnomn R osE
A B

() TS o T R

(B) F 3wt W A R A WO
i = B

() s e w2 A e e R

a]] ﬁf—fﬂﬁﬂi‘rmﬂl%ﬁaaﬂﬁ.mﬁ
= wE s Al A R

e FiE ORI AW @ R R T
33 # wfgen o A e, @ AiE
@ @ s B 2R W 10 1 9
333 7w @ & A 5 wieen A 39 A W
=il 3, v g il uE wfeen wEE W
) TEEER 8 A Y R A # fEe
¥4 1 wam go 97

A) 15
By 30
) 36

@) 45
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46.

47.

48,

In a basketball match, all ten players
shake hands with each other once after
the match. How many handshakes will
be there?

(A} 20
3 45
) 55

(D) 90

Shyam buys pineapples and coconuts
A pingapple costs ¥ 70 and a coconut
costs ® 50, If Shyam spends a ftotal
amount of ® 380, how many pineapples
does he purchase?

(A 2
iB) 3
€ 4

(0] Data is insufficient

In the pasi, consumers would rarely
walk into an ice cream store and order
low-fat ice cream. But that is not the
case tioday. An increasing health
consciousness combined with a much
bigger selection of tasty low-fat items
in all made low-fat
jce ecream a very profitable item for
ice cream store OWnNers.

categories has

The statement that best supports this
paragraph is

(4] low-fat ice cream is more profitable
to the store owner

(8} customers were very selective in
the past

(C] customers are very selective now

{0} customers do not worty about the
taste now

49, Some sportspersons are rich, Some ane

50.

51.

arrogani. These imply that

[A) sportspersons are generally rich
and arrogant

(B) sporispersons ane generally poor
and arrogant

(C} all sportspersons are Arrogant
irrespective of whether they are
rich or poor

D) there are some sportspersons who
are rich, but notl arrogant

Death penalty is given only in rarest of
rare crimes in our country. Even then,
there is a strong demand for scrapping
this mode of punishment in a modern
soctety like ours, The main argument in
this directon is based on the fact that
several countries have scrapped it
recently. This implics that

{A) death penalty does not EXIST

elsewhers

[B] many people get death penalty
every Vear in our country

(C) only our country awards death
penalty now

[}y many people feel that death
penalty is not a good method of
punishment

In a loeal train starting from station A,
the mumber of female passengers is half
the number of male passengers. At the
next station, 10 male passcngers leave
the irain and 5 female passengers
board the train, which makes the
number of male and female passengers
equal. How many passengers entered
the lecal train at station A?

(A} 15
By 30
{C) 36
(D 45
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54.

frf ¥ T T 3wk O H wEEE
Rl T ¢ 060 & F A AN AW
ﬁﬂ%mﬁﬁmﬁamﬁm?ﬂﬁ%ﬁﬁr
a3 ) = g0 w wen & fan @ 40
aafer @ T O TR A A o, 6
o7 1 Tafsm &, W

Ay 8
B 12
16
o) 24

3t 3 7 ufeen F) 3 g FR T
"ﬂmtgiﬂnﬁﬂfﬁrﬂﬂﬂﬁﬂ’m”ﬁ
= @t T HiEem = W=

Ay =T
(B) v =

[C] e
(o) =i # # FE A

= o, wm whl e 3 A e
s e @ @) W R gEE e, T
A d wi W s e bR
ﬁlﬂﬁﬁrnﬂﬁmﬁﬁ,mﬂmﬁﬂ
Frifm @ %1 v g d T A
e T & B a3 AR S e
wwn & ) A T @ T E)

wuﬁhﬂmmmmmm
Hua B

(A) T R et e

(B) URW R A F e
E ik

(©) wma T AE H A W e
= T

(D) T R s B gen § o s
iEn =W T

Fa¥y (97 He 55 A 59} : famfain weE W ¥
@ﬁﬁﬁﬁ&hﬁﬁéﬁm! e
A &) W wew w R e b
aﬁq-?ﬁqjﬂﬂmmmﬂ;ﬂmﬁf#ﬂﬂlﬁﬂﬁﬁﬁﬁ
& uF 7 I AL

55.

56.

e
e - it Fae T 9 0 A g0
Trﬁﬁznnti‘rﬁﬂmnmﬁﬂ
Frard] J FAH |

Y L :
#m A 754 fom flaend @)
e 11
o w3 R Taentyd B ol
Ectk= il
() e | s
1] e 11w 8
[ ﬁﬁ’iﬂ’lqﬁ'ﬂﬂﬂwﬁﬁ!‘l‘l’ﬁﬁﬁ

(D) 1 oA g S E

EE
e g ¥ A A Sam T
‘ey WA FER W CEEE TR
wara 51 B

qEan ]
Sl A e ¥ AEE

EHEE 11
S 3 it ) il e A

(A g 1w g

(B) T (1w ¥

1cl ﬁﬁqﬁwﬂwﬂﬂ?ﬁ?
1oy a&'r{afrv;?immnﬁmﬂﬂﬂt
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B2. A group of fricnds organized a party
and planned to spend ¥ 960 for total
expenses. Four of them could not make
it. Henee, the remaining people had to
pay ® 40 per head to cover the
expenscs. The number of people who
attended the party were was

A) 8
By 12
{C) 16
[y 24

53. John points out to & lady and says,
“She is the mother of his son's wile's
daughter.” How Is the relation of the
lady with John?

|A] Uncie
[B] MNephew
(C] Daughter-in-law

i) Mone of the above

4. These days almost all festivals have lost
their traditional fervour and enthusiasm,
The main reason for this is excessive
commercialization of such festivals.
Market forces dictate the way these
festivals are to be celebrated. The only
plus point of this scenario 18 that many
of these festivals have surpassed their
original regional nature.

The statement that best supports this
paragraph s

(&) everyone celebrates festivals these
days

{B} most of the festivals are celebrated
reglon-wise

IC) mature of celebration has changed
over & period of bme

() these days we celebrate many more
festivals compared 1o the past

Directions (Question Nos. B5 to §9) : In each
of the guestions below, there is a statement
followed by two assumptions 1 end 1L
Consider the  statement and  given
assumptions, and decide which of them is
implicit in the given statement, Choose the
correct answer from the given altermatives.

55. Statementl ;
In one-day cricket match, the total
runs scored by a team were 200,
out of which 150 were made by
SPINNETs.

Assumption 1 ¢
The team had 75% spinners.

Assumption 11
Fast bowlers outperformed the

spinners.

{A] Assumption | iz strong
(B] Assumption I is strong
(C) Both the assumptions are strong

(D] Merther assumption is strong

56. Statement :
The ‘Swachh Bharat Campaign' led
by the honourable Prime Minister
has a great impact on the society.

Assumption | :

People understood the importance
of cleanliness,

Assumption I :
People across the country liked the
campaign.

(&) Assumption | is strong

{B) Assumption 1l is strong

(C] Both the assumptions are sirong

(D) WNeither assumption is strong
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7. W ﬁh{mmﬁnﬁm};mnﬁlimmm;
e mmﬁfhﬂnﬂuﬁmﬁﬁaﬁaﬁﬁ 450 @t A sfv-Tm, i sl -

it T % R dife W e it 1, T wtwd R #

Frmeh w0 % oo s = ) ol i & 97 . 167
i wofi Teh § el ;. 60
i # < w ) we whE i R viifie-mrE & %A + 175
S 11 fira 3 ;199
difed e @ =0 T W OowE - ;191
firdft R e it -ama # U ;62
it d e ; 48
() e | s EEr _
(B) g 11w e TR -9 A 9 ; 52
() B € o] i 60. Fr BT daw sifow-wma A e g
() ﬂi‘ﬂmﬂmﬂg (A} 15
58. 4 : i
" o s i @ sEm w  f © 30
mmﬁamhﬁ'ﬂh EXE D) 42
e i & e, swm ¥ fem 61, B o e T § ¥ g
wwa fore = 1 ) 152
ﬁml 1 B) 144
T T W = ) 61
L s o} s6
o, el Y 2 fr o iR T - v o fa A
(A) T | s R 6 ‘wgﬁ? :
(B) TET 1 B # at Si
€ #RAT . iB) 203
o ﬁ!ﬂﬂjﬂﬂ“ﬂmﬂﬁﬁqﬂt © 170
EQ. WM : ) 94
wh e Fe 3 R W ITTEIL s 1 i 3 i o 0 e 7
=1 @ T ¥ :
;i |A] 56
wha & 47 sefE % sme W :2: ?;2
{Jurrf:]?: (D) 162
mﬂmmﬁaﬁiﬂﬁﬁﬂi ﬁ*%mﬁwmi,ﬁﬂ-ﬁ—ﬂﬁ
s i B forr ) e g B
1A) qern | W R (A) 450
(B) T 11 W # (B) 390
() @t it derord e & [c} 304
() 1§ e s T R Dy 167
PyAJI2016/2-A 20
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57. Stalement : Directions [QJuestion Nos. 60 o 64 : The data

Nowadays all departmental on 450 students who gave an examination
stores do have surveillance video in Physics, Mathematics and Chemistry in
monitoring cameras o curb Class X1 in a school is given below.
stealing of items. ;

n i e, Passed in all subjects + 36T

sgumplion : 2 Failed in all subjects v B0

Peaple have general tendency to Failed in Physics el
steal things. Failed in Mathematics )

Assumption [1 : Failed in Chemistry . 191
Video monitoring  helps in Passed in Physics only : 62
preventing theft. Pagsed in Mathematics only : 48

(A] Assumption | 1s sirong Passed in Chemistry only t 52

) - . :
B st 1] 3 gteme 60, How many failed in Physics only?
(C} Both the assumplions arc sirOng

(D} Meither umption is st )
Nl ags om0 raT|
¥ . | 21
58. Statement : ic) 30
All meticulaus people find suitable
time o take rest, Raju, in spite of o) 42
]t-:lsc:h:gg schedule, finds time to 61, How many failed in ane subject only?
B (A) 152
Assumption |
Raj ticul o R
aju 1% A me OUS [ETSOM.
T - € 61
Assumption 11 D) 56

Raju is a hard-working persomn.
62. How many passed in Mathematics and

Assumption | is stron : ;
(A} P & at least one more subject?

(B} Assumption 11 is strong

[C) Both the assumplions are SiTong (Al zlg
() Neither assumption is strong B 20
cy 170
o STH-!E;;I;]L'I“ a_:'nmu-:n' organizations have (D) o
w 5 [
welcomed ~ the new  sexual 63. How many failed in two subjects only?
harassment law,
e (A} 56
Assumption B 61
Sexual harassment crimes Were
very few in the past. (1
i o (M 162
ssumption il :
There is a new awareness about 4. Hml..r many passed in at least one
sexual harassment in the society. subject?
|A) Assumption I is strong (A) 450
[B] Assumption Il is strong B 390
(€} Both the assumptions are strong 1C) ao4
D} Neither assumption is strong [ 167

P/AIHI0L6/2-A |P.T.O.
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fammE B o 3 4 &1 = Tt 2

65. T & = faend) #ia &

Ay P
(L5 )
[

o s

66. 7 A ¥ = Tawr B R
P
LTS
(€ R

() 8

67. T H a8 e o By
Al P
B @
€y R
mpoT
68, T9H # T F Tl #H A7
iy P
B Q
<y R’

iy 5

BASL2016/2-A

22

69. T 7 A= ufEend
M P QR
B @R 3
) BQ s

™ P RS

TO.

8 T4 TR T A 99 # Sy A W O A

g g a4, TER I T @ Wy W
| A W0 Tk g1 R e e e #

Jzad, 1294
409, 16 79
56 a4, 22 =

()
B
4]

[} 6454, 24 =9

FEm (m He 71 3t 72)
#1 FE fEfafa v 5 = a5

738
439
156
273
Btg

i= ¥ = s=ma

71. Fcifafim § 4 $9-9 25 § o) gen W
T T f, 9w e e e 6
| IHF I U 5% 2 wEE U

F4 8w ad?
Al 2
[EB) 3
1<)
o 7
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(Reverse) #14 % o= == 3 g0 #uw
He w1 i W FR-m i

a1
(B} 2
cl 4
o 7

Downloaded from: http://studymarathon.com/


www.studymarathon.com
www.studymarathon.com

Directions ([Question Nos. 65 to 69) : There 69, The three ladies are
are five persons P, B, Sand T. One is tennis Ay PO R
player, onc is chess player and one is hockey

plaver. P and S are unmarried women and do B QRS

not play any spert, None of the women plavs L T S o

cither chess or tennis, Among them there is a D) PR 8

married couple in which T is the husband.

) is the brother of ® and is neither a chess T0. Rahul was four times as old as his son
plaver nor a hockey plaver. B years ago. After 8 years, Rahul will he

twice aa old as his son. What are the

i : present apes of Rahul and his son?
65. Who is the tenms playver? .
[A] 32 years, 12 vears

A] F (B] 40 years, 16 years
C) 56 years, 22 years
B 0 l ! ¥
i} G4 vears, 2% years
i€y Rk
Directions [Question Nos, T1 and 72) : Sec
i s the sequence of numbers below and answer
the following guestions,
738
; ) B
66. Whao is the hockey player? 479
Ay P 156
273
£}
B O Bhg
T1. Which of the fullowing will be the
cy r second digit of the third number from
the top when they are arranged in the
oy s descending order, after the first digit in

each number i3 changed to the next

highest digit?
67. Who is the cheas player?

A] 2
S B 3
(@ Q ) 5
€l R o 7
m T T2. Which of the following will be the last
digit of the second highest number,
68. Who is the wife of T? after the positions of the digits in each
number are reversed?
Ay #
A} 1
cy r c) 4
i s ny 7
PrASI 2016/ 2-A 23 [P.T. O
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73, TF Tt & wva o0 @ §) ok o i (w Ho 76 ol 77) AN BE o o Rm
o GeEn 28 o 40 f g den 72 R, @ an e W AEUEEE R i A

Tt § = +n w1 e e R formiffirm Wit o T i
Tgel BF WEH % 2nm, 3 fame (4 s B) T
A) 16, 12 T A ) s f e, 9l fas @ fam
ufaera % wn § 29f el R S o =0 6 g
B} 20 8 gEm 1500 ¥ R v F e st A e s
B gr 3= 0w w wE e e | T
cy 24 4 T R
) 14, 14 LiL] IO (A H
abfgas gy |
[t L2
74, fEd 3 30% 6 W FE HR 15 3 A :r:ﬁ ﬂfz
et #1 Tr | /g 40% % ue T LA
T @3 ¥ fom s s A 35 A | = T8
w T 3l f sl B | - 7:9
(A} 28% 76. FFH A T F4af F dwm d= o wE F

e, T@l wEO g TR - Awe A=
1w T wran e wfiem 2Y

B 33%
W 75%
(C) 35%
(B} 90%
D] 42%
NN (C) 130%
D] 160%

75. W F w0 FE A o 1% ¢ oA IE A
aeH T 2 e 2 R fenef £
7. waEl oo F UemE st B ogm ==

TR FE R T wEn = R
(A} 45 ;.. L
(A} 370
(B] 46
(B 210
el a8 (C} 150
D] 48 ) 110
PiAGIL2016/2-A 24
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73. In a cage, there are ducks and rabbits.
If the total number of heads is 28 and
that of fect is 72, how many ducks and
rabhits are mn the cage?

A 16, 12

(B) 20,8

c] 24, 4

o] 14, 14

T4. Rohit scored 30% marks and failed by

15 marks. Mohan scored 40% marks
and obtained 35 marks more than
those required to pass. The pass
percentage ia

[A) 28%
(B} 33%

{C) 35%

) 42%

T5. Ajay ranked Oth from the top and
38th from the bottom in a class
How many students are there in
the class?

{A] 45
B] 46
[C] 47

(I 48

PIASIL2016/2-A

25

Directions (Question Nos. 76 and T7) : Study
the following pie chart and table carefully to
answer the questions given below.

The pie chart shows percentage-wise
distribution of the number of cars sold by
two distributors (A and B) together during
firat six months. The total number of cars
sold is 1500, The table shows the respective
ratic between the number of cars sold
by company A and company B during

six manths :

Month Rextea (A & H:i

January

February
March

[ [ i S I R |

Apnil
May
|

-Jql-:w-—-m
o m |

| June

76. The number of cars sold by company A

during January is approximately what
percent of the number of cars sold
during June by the same company?

A) 75%
[B)
(c)

90%
130%

D) 160%

What is the total number of cars sold hy
company B during February and March
together?

(A) 370
(B) 210
(¢} 150

o} 110

[B.T. O.
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78. The fllowing opcrations are carried Directlons : (Jucstion Nos. B2 to 84) If letters

out sequentially on a number to yield from A to M were written, leaving space for
the same stariing number ! one letter between every two letters, and then
Firat divide by two, then take sgquare the remaining letters were inserted beginning

root and finally take the cube with N and ending the series with £ afier M,

What is thi ber? answer the following questions.
at is this number?

A] o4 B2. Which letter would be third 1o the right
By 27 of the seventh letter from the left?
cy 8 4 €
o 216 . B ©
79. In a workshop, it iz observed that in a € R

day cach woman can make 20 pots
while each man can make 10 pots.
A total of exactly 120 poi= need to be
made in a day. It is also required that

D) S

83. Which letter will he exactly between 13

the all women tegether should ‘make and K#

exactly 60 pots in a day. The number of T

meti to be employed in the workshoep to

achieve the above 18 B T

[A] 1 < v

B) 3 oy W

) &

() 12 84. Which letter would be exacily in the

middle of the 18th letter from the

80. If A+ B=C+D and A+D> B+C, then beginning and the 15th letter from the

which one of the following is definitely gna?

Wrongr A G

By A>C © J

o) €D

1<) o) L

oy BE=0

81, The average weight of three persons is e ol i S

equal to 140 kg, The ratio of these three TR
persons’ weights is 1: 2:4. What is the Atmosphere always has
weight [in kg) of the heaviest person?

= " (A) oxygen
jA] 140

(B} air
By 120
iC) 60 I .
) 24 D) dust
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(B) e iR

(C] WU

(D) e
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e = g
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